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The Distributive Property
a(b+c) is the same as (a x b) + (a x c)			2( 3 + 5):   a=2, b=3, c=5

Simplify using the distributive property.
1. 	3( x + 8 )					2. 	4( x – 5)
	(3 · ___) + (3 · ___)					(4 · ___) - (4 · ___)
	 _____+_____	 	_______-________

3.	2( 4 + 3c )	                                             4.	5 (3k – 2)	
	(____ · ___) + (____ · ___)	(____ · ___) - (____ · ___)
	______+_______	______-________

5.	3( -2r + 6)	                                             6.	( 4y – 1)5
	(____ · ___) + (____ · ___)	(____ · ___) - (____ · ___)
[bookmark: _GoBack]	_______+_______	______-_______ 

7.	-2( 3p + 9)	                                             	8. -5( -2x + 10 )		
	(____ · ___) + (____ · ___)	(____ · ___) + (____ · ___)
	______+_______	_______+________

9.	4( -3c + 5)	                                           10.	2.5 ( 8x + 15 )
	(____ · ___) + (____ · ___)	(____ · ___) + (____ · ___)
	________+_________		_________+________




